Fillets on shafts

r/d =0.03
Dfd =1.50

/’ﬁ typical bearing

Mote =mall void
between bearing inner
race and shaft

(a) Example of sharp fillet (Smaller)

F = radius = 0.019

4=1.00 dia. D =150 dia.

rd =0.019 \ \
Did = 1.50

2 times size with

Bearings inner race filet radius
matches the shafts radius

(h) Example of well-rounded fillet (Larger)

A similar sized taper bearing from the
same series with a larger fillet radii (b)
can be installed on a shaft with a

smaller radii (@), but NOT the other way
around



